Virginia High School League

Scholastic Bowl, 2001-02 season

State Competition, Match #2

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the State level. Shawn Pickrell and Adam Fine are the authors of these questions.

All participants and spectators  must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the State competition before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
THIS IS A COMPUTATION QUESTION. Two answers are required. The vertices of a rectangle are (0,3); (0,7); (4,3) and (s,t). What are the values of both s and t?

ANSWER: (4,7)
2.
In plant reproduction, what asexual generation begins with the fertilized egg and ends with meiosis, and is more conspicuous in the non-seed bearing plants than is the gametophyte generation?

ANSWER:  sporophyte generation

3.
Most of the characters in this book, including the main character Alex, speak in a Russian-based slang called Nadsat. In this book, Alex is caught by the police and forced through an experimental rehabilitation process called the Ludovico technique. What is this novel by Anthony Burgess where the main characters engage in a little “ultra-violence?”

ANSWER: A CLOCKWORK ORANGE
4.
It was founded in 1912 as the official organ of the Russian Communist Party. What is this newspaper that still exists today and whose name means “truth” in Russian?

ANSWER: PRAVDA
5.
At first he eagerly opposed the Christians, and he even participated in the stoning of Saint Stephen.  After seeing a vision of Christ on the road to Damascus, however, what man converted to Christianity and eventually wrote a series of letters to international churches that became a large part of the New Testament?

ANSWER:  Saint Paul (prompt on Saul of Tarsus)

6.
A former naval officer, his first series of stories was published in the Saturday Evening Post and later collected in 1951’s The Green Hills of Earth.  Which author won four Hugo Awards for his novels Double Star, The Moon is a Harsh Mistress, Starship Troopers, and Stranger in a Strange Land?

ANSWER:  Robert Heinlein
7.
The SI unit of magnetic flux density is named for what Croatian-born electrical engineer, and not an early 1990s band which sang “Edison’s Medicine” and did a remake of “Signs”?

ANSWER: Nikola TESLA
8.
What are the three prime factors of the number 455?

ANSWER:  5, 7, and 13
9.
Ethan Zohn recently became the third contestant to win one million dollars on what quasi-reality TV show, set to begin its fourth incarnation in the Marquesas Islands on February 28?

ANSWER:  SURVIVOR
10.
When Washington, DC, increased its drinking age from 18 to 21, people who were between 18 and 21 were allowed to continue to drink. In the Jim Crow era, this allowed white voters who failed newly installed literacy tests to vote, as they had been eligible to vote before the tests were in place. These are examples of what type of provision in a new law that limits the law’s application to people who are new to the system?

ANSWER: GRANDFATHER CLAUSE
11.
What elements are contained in a dichromate ion?

ANSWER: CHROMIUM and OXYGEN
12.
For the Paris production of it in 1774, the composer added a ballet interlude for the Hades scene that included the “Dance of the Blessed Spirits.”  Ranieri Calzabigi (cal-zah-BEE-gee) wrote the libretto to which Gluck (GLOOK) opera about a mythological musician’s trip to the underworld to rescue his dead wife?

ANSWER:  “Orpheus and Eurydice” (ur-IH-dih-see)

13.
On a hard disk, what name is given to a vertical column of tracks?

ANSWER: CYLINDER
14.
What three-letter palindrome alternately refers to a fishing float or cork, a short haircut on a woman or child, or to the action of moving up and down, as in going up and down out of water?

ANSWER: BOB
15.
In 1838, he supervised the removal of the Cherokee to the Indian Territory. He led the campaign that captured Vera Cruz and Mexico City during the Mexican War, and ran for President against Franklin Pierce. Who is this man that was commander-in-chief of Federal forces at the onset of the Civil War?

ANSWER: Winfield SCOTT
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
Who is the Wall Street Journal reporter that has been kidnapped while on assignment in Pakistan?

ANSWER: Daniel PEARL
1B.
What is the solution to the equation n² + 22n + 121 = 0?

ANSWER:  n = -11
2A.
To the nearest tenth, what is the golden ratio?

ANSWER: 1.6

2B.
What Princeton professor and author of the novels Sula, Beloved, and Jazz won the Nobel Prize for Literature in 1993, the first African-American woman to do so?

ANSWER:  Toni Morrison
3A.
What name is given to a material that is a poor conductor of electricity or heat?

ANSWER: INSULATOR
3B.
The Museum at Olympia contains his original work Hermes and the Infant Dionysus.  Who was this Greek sculptor, perhaps best known for his Cnidian (NID-ee-an) Aphrodite statue?

ANSWER:  Praxiteles
4A.
What President was born Leslie Lynch King, Junior, but had his name changed when his mother married his stepfather?

ANSWER: Gerald FORD
4B.
Roughly construed, kinematics is the study of what?

ANSWER: MOTION (accept equivalents)

5A.
What famous poem begins “The curfew tolls the knell of parting day,” and was written in 1751 by Thomas Gray?

ANSWER: An ELEGY WRITTEN IN A COUNTRY CHURCHYARD (it was originally titled with the An so accept both)

5B.
What name was shared by the first two Emperors of Brazil?

ANSWER: PEDRO
6A.
Mullah Abdul Wakil Muttawakil (moo-tah-WAH-keel) turned himself in to American forces on Friday, February 8. Muttawakil held what post in the Taliban government?

ANSWER: FOREIGN MINISTER (accept equivalents)

6B.
What name is given to a ray that is in the interior of an angle and forms two equal angles with the sides of the angle?

ANSWER: BISECTOR
7A.
THIS IS A COMPUTATION QUESTION.  What is the product of the binomials 6y - 4 and 14y + 17?

ANSWER:  84y² + 46y - 68 (84 y squared plus 46 y minus 68)

7B.
Who was the French author of the short stories The Necklace and Ball of Fat?

ANSWER: Guy de MAUPASSANT
8A.
An anemometer is an instrument used to measure the speed of what phenomenon, also measured quantitatively by the Beaufort scale?

ANSWER:  wind
8B.
Man with a Glove, Bacchus and Ariadne, and the Venus of Urbino were all works by what Italian Renaissance master, long-time court painter to the Spanish monarchs Charles V and Philip II?

ANSWER:  Titian (TIH-shun) (or Tiziano Vecellio)

9A.
Crecy and Orleans were battles in what war?

ANSWER: HUNDRED YEARS’ WAR
9B.
What nine-letter term describes a temporary structure that falls off or out at a certain season or stage of growth, such as baby teeth, insect wings, antlers, and leaves?

ANSWER:  deciduous
10A.
Galahad was the son of what adulterous Knight of the Round Table?

ANSWER: LANCELOT
10B.
Marc Hanna, the powerful Senator of the early 20th century, represented what state in the Senate?

ANSWER: OHIO
Third period: 15 tossups
1.
Carl Maria von Weber (VAY-bur) and Franz Schubert were first-generation composers of what musical period that emphasized emotion in its melodies, the performer as a virtuoso, and much more colorful harmonies than the preceding Classical period?

ANSWER:  Romantic period (or Romanticism)

2.
What five-letter word names both the daughter conceived of the affair between Reverend Dimmesdale and Hester Prynne in The Scarlet Letter, and also the title of a John Steinbeck novella featuring Gulf of California fisher Kino and his wife Juana (WAHN-ah)?

ANSWER:  Pearl
3.
By painstakingly dissecting cadavers, he was able to learn much about physiology, and in 1543 he published his landmark work Seven Books on the Structure of the Human Body.  Who was this Flemish physician who made the first significant break with the findings of Galen?

ANSWER:  Andreas Vesalius
4.
In the ninth century CE, Hindu and Arabic mathematicians independently developed the concept of which number, the identity element for addition?

ANSWER:  zero
5.
In Freud’s developmental model, this was the life instinct opposed to thanatos, the death instinct. What is this instinct of creativity and life-preserving drives, named for the Greek god of love?

ANSWER: EROS
6.
When the United States failed to recognize his belief that no individual person or tribe owned Native American land, he attempted, with his brother the Prophet, to create a confederation of all Native American tribes between the Appalachians and the Mississippi. Who is this Indian chief eventually killed at the Battle of the Thames in 1813?

ANSWER: TECUMSEH
7.
What album held the #1 position on the Billboard pop chart for 37 weeks and has sold over 51 million copies worldwide, due to the hits “Billie Jean,” “Beat It,” and the title track?

ANSWER:  THRILLER (Michael Jackson)

8.
As a noun, it can mean a person or device that records the number of occurrences of some activity. As a verb, it can mean to oppose, especially with regard to boxing punches. What is this seven-letter word that as a prefix means contrary or opposite, and comes from the Latin word for against?

ANSWER: COUNTER
9.
What name is given to a natural deposit of a mineral which contains an element that is to be extracted, examples of which include bauxite and pitchblende?

ANSWER: ORE
10.
Roll a rectangle into a cylinder and bend the cylinder until its bases meet. What is this three-dimensional figure that is NOT a doughnut?

ANSWER: TORUS
11.
Homer identified them with the Islands of the Blessed, or the Hesperides, but later poets placed them as a region of Hades, ruled by the judge Rhadamanthus.  What was this dwelling place in the Greek underworld for virtuous souls?

ANSWER:  Elysian Fields (or Elysium)

12.
What is the object of the verbal in this sentence? Running the mile is required to win.

ANSWER: MILE
13.
Between 200 and 300 million years ago the Panthalassa Ocean completely surrounded what single global landmass?

ANSWER:  Pangaea (pan-JEE-ah)

14.
The “writing on the wall” appeared for what last Babylonian king, the son of Nebuchadnezzar?

ANSWER: BELSHAZZAR
15.
THIS IS A COMPUTATION QUESTION. Take a cube that is one inch per side. Fill it with water three times and empty it into a cube that is three inches per side. How deep, in inches, will the water be in the larger cube?

ANSWER: ONE-THIRD of an inch

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
To make lactose, combine it with galactose.  To make sucrose, combine it with fructose.  To make maltose, use two of these molecules.  What simple monosaccharide carbohydrate, also known as dextrose or corn sugar, forms these disaccharides?

ANSWER:  glucose (accept dextrose or corn sugar until mentioned)

2.
What adjective describes any value x where the derivative of f(x) is equal to zero?

ANSWER: CRITICAL value

3.
What is the capital of Belarus?

ANSWER: MINSK
4.
His most important work was 1180’s The Incoherence of the Incoherence.  Called the “commentator” by Thomas Aquinas, what Spanish-Islamic philosopher was a well known Aristotelian scholar and also served as a judge in Seville and Cordoba?

ANSWER:  Averroes
5.
The first edition was illustrated by Lois Lenski and published by the Platt and Munk Company; the author’s name on the title page was a pseudonym used by children’s writers working for the company.  What 1930 work tells the story of the carrying of children’s toys over a mountain by a blue locomotive that says, “I think I can”?

ANSWER:  The Little Engine That Could
All questions copyright 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


